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Abstract

The thesis mainly discusses the methods of finding solutions of tropical linear systems
A ® x = b and two-sided homogeneous tropical linear systems A ® x = B ©®y. We are
able to give explicit descriptions of all solutions of any tropical linear systems A ® z = b
and two-sided homogeneous tropical linear systems A ©x = B © y.

As the classical situations, when solving the linear systems of the form A ® x = b,
we first find the solutions for the corresponding “homogeneous” case A ® x = 0. For
two-sided homogeneous tropical linear systems A © x = B ® y, we use the concept of
win sequence to convert it into a finite number k of classical linear systems: either a
system S: Cz' —y' 1]" = 0 of equations or a system T: D[z' — y' 1] < 0 of inequalities.
Moreover, we used so called “compatibility conditions” to reduce the number of &.

The particular feature of both S and 7' is that each item (equation or inequality) is
bivariate. It involves exactly two variables; one variable with coefficient 1, and the other
one with —1. S is solved by Gauss-Jordon elimination. We explain how to solve T" by a
method similar to Gauss-Jordon elimination. To achieve this, we introduce the notion of
sub—special matrix. The procedure applied to T is called sub—specialization.

Finally, we will use MATLAB to solve tropical linear systems of these two types.
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A Em S E BRI AR R ST (tropical linear system) A © x = b BLEE S TF R EA
W AR R BT (two-sided homogeneous tropical linear system) A®x = B 0Oy HIKMEITIE ©
FIAFT 5 A B F ot (T B SRR AR A0 B B 3 BNy SR ME R AR

WIE A AR, BRI RS Ao = b B, ITE SG EHREEER FFX
R A0 r =0 BKF - TUHNESBREATRIE RS, FoFHEH B 758, i
BRI AR R RS b A BT ERIE RS SFAARM S: Cla’ —y'1)' =0
BIREARH T2 Dzt —y' 1" <0 o BRibZoh, FIHMHEB G AOR A b VB -

WA IR S, T ¥R ER R, REDHMA 1 B —1, Bt S TME
- 20 £15(Gauss—Jordan elimination)fEH o % T F g LUELI - EIE =
ER T EGEAT YRR R I E Z IR PR FE P (sub-special matriz), THEATHIEFE TR
T 2 Ry UL (sub-specialization) °
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BV R T R IR TR — 149 - B — 3 T3 LR BRI £ 2 P A 503
EFERIERSR Tmre Simon FHRTI, BVl —33 4 H £ 04 HIH0R B, HERRE
B o BIRABUE AT 37 2 SORES & AR/ B [, 2,3, 4, 5] »

B IRBTTS BV T = RU (oo}, FEREHBINER LR T MIEEH o
B <, 5 BIRRZ A BN TR BB T <
T & 1.1
T FRMERMEEL o & ‘o WF:

@y = max{x,y}

TOY =x+4y,

(T, ®, ©) WA IRICEER
T & 1.2:
IR SCEF, BATETE MY T 1 m x n FEFERE AR A E0E Mopn(T) ©
IS B E 2A B R SR BUE R T AR R4, B ARR AR IE R4 o B ER
WA RS, ERZPIMEBCEE TEENA [1, 6, 7] - EHEIEGEEM AR, BIFE
50 RE FR A0 PR A B Sfeyk B BT Iy E A o
T & 1.3
A BB T B mxn 5608, B B—{EAR T B nxp A C = Ao B &—1{Ef
BT B mox p FEFE, FEFE A REE A E o) = @aikakj = max{a;,+by;: k=1,2,...,n},
k=
FR im0 m = 1.2, p e TOAEETE E S o B I -
B A, B B T B mx n 5P 2 B T, y,a,b B T™, C AR TH) sxn
HEFE D AtREY T BY s x m FEFE o HIJLUR 51| 82— LU 8GR AR M A 47 LA TR =X

Tl: Aoz =0



T2: A0z =5b
T3: Aoz <b
T4: Az =B0ox
Ts: Aoz <BGOux
T6: COx=D0oy

T: Ax®Pa=BOxr®b
1B SRR R AR 2 T B e RR R, AN A o

1.1: BRI A KR (R B

(T4) — (T3

ey oz

13 -~

8 g

TEKAE T1 8 T2 FE L EKBAHFIRIRE - T1 F 0 RRB—(AMEEE 0 1M
B, M T2 RIBEMABFRMERL b € T™ - RMTERME A © v = b RrELMG & IRIA
A®x =0 BB, BrLUAT DUEE & 7 KA R Y R, SEAH A BT 2 = =] - T2 B
T3 ZHBIRRRLESE T2 AR T3 BIS KM & T2 BY—1FEf# -

fift T4 B T5 ZAARAIRIE - A T5 89 AG2 < Boz FEN (A®B)Oz=Box
WELET4 BB e 1 T4 A ERE Aox < Boxz B Aoz > Box, FrLIRAIGE T5
I A

T6 B2 T4 A UE B EHA M FFIME - FL Aoxr = Box =y Al T4 AT LA

:

BIRIALAE T6 TEZ o 1 T6 f) Aoz = B oy ATLUER T4 BB T

xpTﬂ@r

Y Y

I b= =3 |=1= Ry AT
Ox= [ T] Oy, Hf Iy 23y AR -
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] , B Op 23 FHER -

2



Pt LLE w2 S [ A T o
T4 B T7 ol IR R AHFE Y RE » BAR T4 K2 T7 £ a = —o0,b = —oo KFHIFF
il o 17 T7 AT DI RIE AR T4 FITE 0T
m o
z

T
s a]@u 5 e
AR ZRGHIR 2 0B AHEAE 0, FTLRIGHY « N —EME ACr@®a=BoOx®b,
HE, ()0 82 A0r@a=Borob -

AL ERFIHEE X TR W, — 2 R RIERR Aox =b, A
BB UGVERMERT Aor=Boy-

TESCE [7) o, FEERBEGERERS Aor = Box BERMAERS, Bt Ei
MIERGHES A0 2 = Box WERACKE - 7£30F (6] FRIERE—E AR
AU REARIE RS A © x = B 0y BI—#0MF, @ f#lE B % ARy 7 20Kk -

AROAE R A WA RBUERMEF AN A - MAES =T %H
A =0bHIRMEFIRAE, WFE& AL 8], ERMBRIERR A0 o =0 K, FfiF
FHEE RN R R AT =0 AKE -

TEBMNERMRT A0 2 = B oy KK, SNESIIRETRIERLR, BT
B FH (B2 4.14) RS, 1% BB B IR BT AR 1M AR AL % & A BB AR M R AR
SHERFH S Clat — o' 1) — 0 ERERRL T Dl — o' 1) < 0« BRI Sb, FI
AR AR & B -

TR S, T HABEBRNARR, REDHISA 18 -1, Bt S TLls
- 20 £1£(Gauss—Jordan elimination) BaEE o 7% T g LUEL S - EIE =
ER T FOEATYESR, K I E IR IR FERE (sub-special matriz), TIHEFTAYERETM
T 2 By IRFFIRAY (sub—specialization), #EILKE A0 x = B oy B0EMHE °
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BR BEANA

FERHGRTRRS BN AR T R AR AT, TP o 24 (BT R ZL R M ROFIRR A — L AR Ay

e

R 2.1

—fEEEHEE FEAEE A ITER o7, B4 A ERAIRE A —{E HE (semigroup) ©
MRNGFEETLE e, FEHREME e S, cor=aoe =z, BIFEEMNTE, AIFE
BEAR B 1 2 HL BT 8 (monoid) ©

TR 2.2

WRES S L EAMIEER <47 F“x”, 2 BIRE A g f<geiE” o Qe LU %
e, RIF AR B R R IR (semiring):

1. BIERR—E AT s B BB Ao #RE, DL 0 [ARINEE T ER -
(a) BIMER a,b,c€ S, (a+b)+c=a+ (b+c)
(b) FEe S, FHRHENEE ac S, a+0=0+a=a

(c) HNER a,be S,a+b=b+a
2. BRIEMER AT RE, DL 1 RFEEAITE -
(a) BAER a,b,c€ S, (axb) xc=ax (bxc)
(b) FE1e S, HRHNER ae S, ax1l=1xa=a
3. ImEEdSRVE Z M B A o ElEE

(a) HAMER a,b,ceS,ax (b+c)=axb+axc

(b) HIMEE a,b,c€ S, (a+b)xc=axc+bxc

4. BN —ETE s€ 5, sx0=0xs=0°



e SR B AR, B R 2 01T AR IREVIRIE, B0 (R, +, x), (NU{0},+.x) °
TR AT T B a3 R A % RU {—oo}, FAMASRIARFIR T RRBRES -
£ T ERMAZEBWEER o M <o, EmEERRMD IR R Shawinis” B <3
IR o HIEREEFRU T

r ®y = max{z,y}

rOYyY=r+y

#3E 2.3:
(T, ®, ®) FER—{HFIR

FW: ERENEBAEN 2,y e T, #E @y =max{z,y} e TM 20y =24y e T,
RIAF & B a0 B B o
BMERE x,y, 2z € T, Hl

1. BIVERE R —H a] s 5 B A7 e o
(a) (z@y)® 2 = max{max{z, y}, 2} = max{z, max{y,z}} =2 & (y B 2)
(b) FE Op = -0 €T, f#18 2 @ 0p = 0pr @ v = max{z, —0} = o
(c) z@y=max{z,y} =max{y,z} =y Sz
2. HRIERA—E R B AT o
(a) (z@y)Oz=(@+y)+z=0+W+2)=20(yo2)
b) FEIr =0T, G z0lr=lr0z=2+0=2z
3. hmkEESeVEZ IR A S ECEE o
(a) zO(y®z2)=z+max{y,z}=max{z +y,r+2} =20ydzrO2
(b) (z@y)Oz=max{z,y}+z=max{r+z2,y+2} =2028y0 2
4, HMEBTE r€T,200r =24 (—00) = —00 = (—00) + x =0 °
KL, (T, ®, ©) Hal—EFER - O

A (T, @, ©) A—HENVTFER (tropical semiring), WRIFLA T o
H3E 2.4:
B PR — SR (commutative ring), BIEIMER a,b0 € T, a©b=bOa-°
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7B a®Ob=a+b=b+ta=bGa-° O

3t 2.5:
HNMERE aeT, a®a=a, EU?@%BH?%%%%(idempotent) °

FEH: BNMERAEN T, a®a=max{a,a} = a, HIL, BFEIMELEESEN - O

ER—1RAE, fERVER Y T AREESR - FE L XS TEZBARE
IERITE, U0 REFE o (13 2 @1 = 0p o SLEH, BT 7 FHR A, BRI
‘@7 ARG ‘max”, THEREERIE ‘© BREHA 4+ KRR - L HH R
R INE ~ SR, R ORIE S B R E L 22 B2 o TR BV MRS E A, B
AR AR E P BEME A “min” RE @7, LRI LT @ £ © (T, 8, 0)
e S EI RS, FHEMERER (T,0,0) -

W) BB ARVE R A, TR B IR b, MR vT LLE AR MY BV SR 14 -

A = (i) € Mupxn(T), B = (bij) € Mpsp(T), C = (cij) € Mpxp(T), Hl C = A0 B
BEE ¢y = EnBazk@ka = max{ay + byj: k= 1,2,...,n}, HREE i =1,2,...,m,

j=1,2,...,p° tﬂﬂﬁiﬂilﬁ’] RIEREL, A2 BRT DL ERIERSN, ] DUH

ail a2 A1n
Q21 a92 Q2n
1 © ] Do © _ DDz, ©
A1 Am2 Amn
AT AR 45 R -
] 2.6: i
= 2 4 4 2040406 2 4
A = = CHl Aoz = =406 60O =
6 104506 1 5

max{2 + 4,4 + 6} 10|

[max{1+4 5+6} 11]
TEEVEERE T, — ORI AR E, #P B B A AR P E B AP — R R R A B

HE o

HE3E 2.7:

HIMEBAERFEE A € M,y (T), B € My, (T), C € M,yo(T), 8

(AOB)©C=A0(BoC) -



F: B ie{l,...,p}je{l,..., s} Al

(AOB)©0O); = @(A ®© B)ir © Cy;

k=1

rq
= @(@ Ay © By) © Cy;j

k=1 I=1

rooq
= @@(Ail ©® Bi, © Cyj)

k=1 =1

q r
= @@(Ail ©® Bi, © Cyj)

=1 k=1

q T
= @Au ® (@ By © Ci;j)
=1 k=1

:@AiZQ(BQO)Zj
=1
=(Ae(Bo0));-"
Hit, (AoB)©C=A0(BeC)-°

H3E 2.8:
BHNMEBLAERIEM A € M,y (T), B,C € My (T), Hl

A (BoC)=(AoB) @ (AGC) -
B Bwie{l,....phje{l,. ..} H

(A6 (B®C))y; = éAik @ (B® Oy

k=1

q
=P Ao By ey

k=1

q
= P4 © Biy) @ (Au © Byy)
k=1

=P o By) @ @(Aik © By;)
=(AoB)® (A0 C)); -
Hit, Ao(BeC)=(A®B)®(A®C) -

T & 2.9:
A

7

]

— (ai;) € Myen(T), Bl A* = (—ayi) , B A® = —A' = ZE0HR A" 5 A HOLHGSE



P o Ht T RR (RU{+o0}U{~0},®, 0,8, @), 0 B o ZHFER —co®oo = —c0

M —c0® 0o =o00"°

7 T b, FEMESRIER &I T HMHE:

HH 2.10:
BN G ERAER UV, W A T, W2
(U'V)oWwW U (VoW), (2.1)
Uo U o'W)<W, (2.2)
UoU " UeW)=UeoW- (2.3)

B B (2.1) B, AP EEEGE
(U'V)oW,; = mkax{(U O V)ix 4+ Wi}

o mkax{mlin{Uu + Vie} + Wi}

> mkax{mlin{Uil + Vi + Wi}

= Uypr + Ve + Wi

< Ui + Vigr + Wi, BIREBLRERT 0

A1 EE A P B L B
(U (VoWw)),;= mlin{m’?X{Uil +Vik + Wit}
=Up + Vg + Wi ©

F, (U&'V) 0 Wiy < Up + Vi + Wiy < (U (VOW))y °

1 (22) 1, (Uo(U0'W));; = IIllaX{mljn{Uil_Ukl‘l'ij}} < mlaX{Uiz—Uqusz} =
Wij °

E 3T FRUOUQUoW) SUW, BAEER U U Q' (UoW)) >
UoW e

U U & (UoW)), = mlax{msin{m]?X{Uil — U+ Us + Wit}
> msin{m]?X{Uik = Usp + U, + Wi} }
- msin{ml?X{Uik + Wit}
= mkax{Uik + Wi}

= (U@W)w °



BE 2.11:
BHANGERERISERE A B A T, /e

(AGIB)*:B*QA*O
FO: R (24)

(A® B)j; = —(A® B)j
— m]?X{Ajk + Bkn}
= mkin{_Ajk — B]ﬂ}
= (B A); °
i, (A B)*=B*0" A* °
ST (2.4), ATLAEH
— (B* ® A*) °

L, S5t (2.5) B -



BoF WRERH Ao =1

BEFEME A € Myo(T), b e T, M BEAHARAERHFEDN 2 € T, W2
Aoz =0, B

max{a;; +x;: j=1,2,...,n} =b;,1=1,2,3,... ,m>°

TEBR AT DIALE, EET R ARRE T, 5 Aoz = b ZAR, AIERNE—(FH
G, WEEE j 5 a; 4+ o; BFRRKEL HEFR b, B a; +z; = b;, AT LA
KU x; = by — ay; » B, BAENRE « HIREE, HEEEEREWLE A FEEITE o
R ay; + x; FTRERE] b o FTEL, DUNRRERSES A EATE R AR R4 -

B KR

MR A € Mpyyn(T), b e T, BMIHERLFAR 2 €T, WE A0z =0
BotHME AR

e nf=1,....n,neNe

ISR Ay R A W5 i 5], 0 € [m] e

LAFFSR AV) FORHER A 95 517, j € [n] ©

e ¢; =[0p,...,1,...,0p]" = [~00,...,0,...,—oc0), HFRTE i A9 ER 1, Hi
B Op o

e O={jen]:z;=—o0}"°

T3 3.1
HIFTE by = Op = —oo, RIS Ay FIE —co FTEIEAIITH 2 AV, HATHENEE o,
BB —o0 ©

10



B HWhb =00 H Aoz = b, EXAEFEL o, BE lo(Aor) = (0A)or =
et ®b, Bl Ay © 2 = max{a; +z;: j € [n]} = b = —oc ° EL, EIMEMH a;; # —oo,

H a; + 2; = —oo, 8] ; = —00 © []

o R bilERE, FAM AT LA b MR T ETEEEER o TR, #F b = —oo, AT
A a] LAREREREE S & o) = —oo, BRILZ AN, 28 i 548 R —co = —oo, FIM, AILIE
BEBR Ay K by, BEEE m #5082 m — 1 HIRA 2; = —o0, 2; @ AD < b, [, 7]
DIEHEAR AY) BB o, W n R n—1 -

o & AV = —co HIHNERH 2, € T #H ;0 AV < b, BEE o, W AH BREZ
HIAER, B LURE RS - R LB R AV RBE o, I n f5RER

n—1e¢°

o M b HIEBES BHEREAER, Eit, BRE—5] A, 0o = b, MSHEVERIE
Pl bt BE, Ay 0z 0b = (An @b ) or=bob !t =0° T, TMZTFE
R AOr =17 =0, BEOEERLT o

B DL B s, MRS Ao =0 B AY £ —co BEMEERME RS
AT
EABSEBRRIERS Ao r =0, B ATLUEE

max{a; + o1, a2+ T2, a3 +x3, ... G, +2,} = 0
max{ as; + 1, Qo2+ T2, A3+ T3, ... A +T,} = 0
max{ as; + 1, ase +T2, asz+T3, ... ,am+x,} = 0
max{am, + 1, Gm2+ T2, Auz+ T3, ... ,0Qmp+2Ty} = 0

FH4E R gL mT LUSEN, BB j € [n], max{a;; +x;: i € [m]} <0, B o @A IE
HE A®x=0 10fFA

) —max{a; : ¢ € [m]} min{0 — a;;: @ € [m]}
To —max{a;: ¢ € [m]} min{0 — a;p: @ € [m]}
2y | < | —max{as:i € [m]}| = |min{0—az:ic[m]}| =A"O 0eR" -
| T | - max{a;,: i € [m]}_ _min{O — .t 1 € [m)] }_

FHE L AQ0R Aor < 0 RUERKME, Bl 2 B Aox < 0 BUMRE HMER © < A*0/0 °

11



T IE 3.9
IR Aor =017 T" BfFEHWSE A*O'0WME Aoz =0c

B Bt s A Ao =0—MEID s < A0, ILLALEMO0=A0s <
AO(A*Q'0) <0 H, A*O'0WE Aor=0-c O

T & 3.3
BINEEMBERERRK Acr =0, F A PE—1T AV BT ERKITEINTE —co, HI
FATHE 2 R AREERY (standard form) °

M Aor =0 MR o; R max{a;: i € [m]} BH, WENE M@ AV &
ai; # max{a;: i € [m]}, BMATLLL a; = —co WARFHE Aoz =0 KIfF - ik, A
A AE R TR T R RITEIINT R —oco, AIENAENBEEMERS Ao =0, I
I SE AT IR EE A A A da Sk i

AL EBEZ TN, §RE—1{E i € [m], 2 L= {j € [n]: a; # —o0} ° HN A®xz =0
BREEEHNEG Y ERE— ay +2; =0, BILELUIEH -
T H 3.4
BIFBMAR A =0T BEERMSE L x L x I3 x---x I, #0° (B}, A &
— 3 E— 1T &R RAITTE)

NG —EITTE (oo Jm) € It X Iy x I3 X -+ X Iy, 5 |(J1,J2, - Jm)| =
{1 dos oy gm b T X Ly I3 X - X D = {1 (Gts Jas - - ) |2 (s Jos o -y Gim) € I X Iy X
Iy x oo x Iy} o HARAMREE—E (1, jo ... jm) € [L X [y X I3 X -+ x I, B—{EHEEF

F|(win sequence) °

BREBETTER 1 € I x Iy x I X -+ x L, B BB - FEa0F:

z; = min{0 — a;;: i € [m]}, HIMEE j € |]|

r; < min{0 — aij: 1€ [m]}, ﬁﬁé{f%}:‘] € [n]\ [I] °

B EEVE BT
AP AR 7 RACK A BRI R AT A0 0 = b HIIT -

o BHR— HE A€ Mypyn(T),be T, % b FH —oo JTLEH, RIH A FIETRLE + 195
BERy —oo, MFERIRIMEMA Q, i HElgte 5F HE 1T, HIFLE » o EAXR
il
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o WER . REREHRE R, HFEMHI TR EER -
o BER= 1§ v Wi EH A BIFIHHIBR, (£ 0 R 0 -

[ J
&
F

RV % A BT RROTRRE, HERAEUE —oco °

N

BRI SR B3 91306 5K s A o

.49 3.5:
KfF A0 x =05, HAF

37 -1 —o 15
A=16 7 -0 —oo|,b=|18] °
10 1 -0 13

1 A® = —oo B4 oy WAL T FIOTE > £l AO K oy, 8

3 7 —1 1 15
6 7 —oo| © [xo| = [18] °
1 0 1 T3 13

SRR 0, 152]

~12 -8 —16 1 0
212 11 —o0| @ |ay| = |0f ©
—12 —13 —12 T3 0

HHBITHIRKE, HAMER —oo, RREIBVFRIE RS

-12 -8 — T 0
—12 —o00 —oof| © |zo| = [0Of ©
-12 —o00 —12 Z3 0
Rt > 15 21BNV AR 1% R 2
12
ZE2§8
T
e= |2 EP{ <12 o
T3
zg €T
Ty

13
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$.15) 3.6:
K Aoz =05, HA

—oco 10 6 -0 4 -0 6 —00 —00
1 0 10 5 —-10 —o0 —x —0 1
10 —o0o 3 —00 —H —00 —00 —O0 1
A= , b= °
10 —-o0 -0 -2 —-10 -10 0 - 1
-7 -2 - 3 -0 —o0o —1 3 1
100 -0 9 -0 —o0o -0 —o0 —7 1

EE’T{?U%%EP, b(l) = —0Q0, Jﬂi, To = T3 =Ty =T7 = —00 ° Fﬁuﬂu%%f&?\%

1 5 —00 —O0 S 1
T
10 —oc0 —00 —0 1
Xyg
10 =2 —-10 —o0o| © = |1l °
Te
-7 3 —-o0 3 1
Ty
10 —oc0 —x0 =7 “—- 1
P o L% 0, BEILLUT &5
_ = L ]-
0 4 —o0 —0 - 0
T
9 —o0 —0 — 0
Ty
9 -3 —-11 —o0| ©® = 10| °
Ze
-8 2 —o0 2 0
xg
9 —o0 —o0o -8 - 0

BT EATHISARTTER LS, ¥R —oo, IREI LU N BV ARIE R R

-0 4 —00 —O0 - 0
T
9 -0 —00 —© 0
Ly
9 —o0 —-11 —o0| ©® = (0] °
Te
—00 —00 —O0 2 0
Ts
9 -0 —00 —© - 0

Rl » B2 B ER I R AOE 2
t
96:[—9 —00 —00 —4 —o00 g —00 —2} , Hrfag <11

O



\

\IR
diq

U TR R A —

BoOy

HNE SR RIE RS Aoz = Boy, HF, A € Muyy(T), B € My (T),x €
T?,y € T?, BARE) 2 = —oc0,y = —oco s —(HfE, A ZM (triviall solution)  H B R
Bt RS, WM T HERE A ENERETEAEREW, Bl 2 e R?,y € R « HNERK

AOSRIE R FSKIE AR, T B ERERT F6AE, Bk, 3L MATLAB 1E &by -

— @ KA

F%Tﬁk%ﬁ%, AT CURE A, B A BA B &1 5 5, Eﬂffb“’\@
1,..., i) # —00, By # —o0, HHRER j=1,....pk=1,...,q, AY £ —c0,
B® 7é —00 © l7% B ARG T8 —oo Al z; #2 T FHUEREL - TANR A HUEE
GI%y —oo HIIE By, # —oo B yy iR —oo ° bR T IEBLENEZ A, BN EAM 2,y B0 R
KPS AN RREL H A RS, Rt AEIE BT, B nT LR T i RE B AT TR 5 IR Y
ot -

T & 4.1
A — G EEM A, FE—THESFHEDEF EERTE, RIFMELTE A &
N FEFEPE o
MWHE 4.2

KRR EMIE o FEFERE A, BRI A B MRE—E o1 FEFEM -

F: AMEBAEENEE, BARMER AOBIWE i YIREEERTE - Hh A

N FEFERE, FrDLLAFETE kY (815 A # —oo, XA B 2 0 FHREM, K, 77
TE §* {15 Bpejr # —o0o, FTLL A© B BIE i 5H (A® B)yj- = m}?X{Ai*k + By} >
Ajepr + Bpeje € R e | i (EBH BRI ZRIERIED, REE Ac B & N HE

15



FEPH o O
H3E 4.3
—fAE v e T /&2 N FEAEMREHWER 2 c R °
ek 4.4:
A€ Mpun(T) & 0N FEFEME 2 B R, Bl Aoz B R" o
FO: HEmfE 43 5% - O

TE [6] BUSCE IR E]—EF A BT AR R 77 1%, T8 5 S8R V2 (alternating
method), LAT e & 2/ 48
o PHE—: e —HEEINE 2(0) cRP ©
o WERT: K A0 2(0)> Boy BIEKME y(0), Bl y(0)=B* &' (A®(0))
o WER=: K Ao 2 < Boy(0) HIHEKM »(1), Bl 2(1) = A* &' (B y(0)) °
BRIT: (K AER y(k) = B* 0 (Ao x(k),z(k+1) = A* & (Boy(k)) °
o SRR FHWRL, A (x(k),y(k) BWHE] A0z =Boy H—{E# -

EHMEE 2.11 BifEsm 4.4 7 DU, DHEHEREF o(k),y(k) HAER, WaEHEHAESR
BHME, BRI ZAMEE [6]) HAlEERAA LA .
T I 4.5
HIMEBBEW 2(0), FI (x(k), y(k)) WoiE HMES SSRGS RS Ao =
Boy B - [6]

ORIt Bl e A A R B AR R R E MR R, RERE B P T## o 7E M
FIEESREAESE Aor = Boy I—%f# -

Bk Aor=Boy, BEEARHEE—E i c m], K 2,y 15 mjax{aij +a;} =
m’?X{bik +yi} °

E5 % i e e N RS T
.19 4.6:
N N 1 2 al 5 6 U1
*%%é%ﬁ%%ﬁﬁ%ﬁ[ c{ ][ }@[]o

3 4 To 8 7 Y2
EE G FES, EXNERLVLEFG I AEXEANEEE —IHZEE R AE,

IR E T e o

16



R AT BERERARZ, BT AR Mot B — IR I METaman T

p

1—|—I1 = 6—|—y2
3+ZL‘1 = 8+y1
2—'—1’2

IN

1+£L'1
5+ 1

IA

6 + yo
4+£L‘2

IA

3+JZ1

IN

8+

\ 74 1o

AT VBB ERN ARG U ARRET BEXRR S HAEXASR T, B—1F
SEREAEXP S AmEEE o BAMHEERENE DR -
q. 1 +x = 6 -+ Y2
3+ ry = 8+ U1

/

241y < 1+4m

N

5+ 1 6+ ys
4+.’13'2 < 3+$1

T+y, < 84y

\

FRE S BRI HAMT LA R ET-EEIE KRR, A LR

S, | —y2 =5 =0
=1ty = 0

A T FTLAE ,
T2 —Ya2 —4 < 0
-1 < 0
T:
T —y2 —4 < 0
-1 < 0

FFREEE A7 RE 2 AL W] USSR

B E RO A £
1 = Y2+5
o= Yo ¢
To < Yy +4

17



BRI R, AR

T2 = Y2 + 4
Y= Yo °
1 < Yya+5

By T RAFIR, T S i BN SR R AR B B AR B T =0
M = [AlB], M e men(T)vn =p+q,

W E— R AR I R ¢, B, Al —2 AR A& A —IHES S AME N B A
ST M o RIS ESI M E AL &, SRR B R B AR S BB (winning pair) °
R &R AT
S WAG) ={je{l,....p}: ay # -0}, WB@E) ={p+je€{p+1,...,n}: by # —oc},
HIF M8 win(i) = WA() x WB(i) FRITES T ERABEE -
Ha3E 4.8:
W icm), & I=(jk) € win(i) B—EEEEE, 2555

Z:{l JEle{l,....p} |

l—p ,Ele{p+1,...,n}

HI myy + 25 = ma, + v, Bl + 25 = b +yp © L H ma + 23 < my; + 25, HREE
Lef{l,....pI\ I, ma+y; <my + o5, HREB L {p+1,....n}\ |1 °

R 4.9 (BFATZ) XA (tropical determinant)):

FE— (TP M € Mpyn(T), BZE—HERE M RIEVEITHIFES

tropdet(M) = [ M|, = €D mio(1) © Mag(z) @ -+ © Mg °

o€Sn
et 4.10:
Ae RE P
5 7
M =
il
5 7
tropdet(M) = =max{h—4,7+8}=15¢
8 —4
trop

18



T 411

L M = [A|B], A € Muup(T), B € Myyo(T), M FHIMEI iy,ip € [m],iy < ip, HE
HIBBELE B I, = (ju, k1) € win(iy), I, = (jo, ko) € win(iy) ° #5 BB ENE R R4
Acxz=Boy &, Al

Mgy + Miygy = Mgy + Mgy (4.1)
Miyjy + Migky = My + Mgy (4.2)
My ky + Migja > My o + Migky (43)
Miiyky T Migky = Miyky T My © (4.4)

FH: ERMEE M = [AB) FHIWI i,i, € [m] i < iy, BEABEE A
Il = (jl, k’l) € Win(il)7IQ = (jg, kfg) € Wln(lg) ° {KT}%H%%&%E‘ %::%‘é, '/Z\Z/Eliﬁﬁ/%l/j\—l:‘/\/fﬁ
¥

My, + T5y 2 Mgy + 255, (4.5)
My, + 572 Migk, + Ygs, (4.6)
Miyky T Y7 = Miyjs + 255 (4.7)
Miyky + Yir = Misky + Y (4.8)
Miygy + T35 = Miyjy + T35, (4.9)
Migjy + T35 = Mgk, + Yg7 (4.10)
Mgk + Yy = Mgy + L7 (4.11)
Migky + Yy = Minky + Yrips (4.12)
PRk, A DAF30:

Mgy Miggy = Miyjy + Mgy (A (4.5),(4.9) 20),

Miyjy + Migky > Mk, + Mgy (A (4.6),(4.11) ),

Miyky + Migjy = Miyjy + Mk, (A (4.7),(4.10) ),

My kg + Mgk > My ey + My (A (4.8),(4.12) X)) ©

]

& 4.12 (48 5 (compatibility)):
% 7:177;2 c [m],il < ig, E. I € Win(il),lg < Wln(lg) ?%/@ (41) ~ (44), ,E\IJEF},‘ 11,12 *a
2% (compatible) °

19



#3% 4.13:

B 11,19 € [m],il < 19, H I € Win(il),fg S WiH(iQ), * I, I *E’Hﬁi’ Hi

My Mgl "
= tr nh e ,ﬁﬁ/{\’ﬁg%‘t\‘ll - |[1|,l2 - |Ig| °
Mgty Mgy
trop

TEK BRI E R /B e SE  — 2 i SO v] BE B BUR TRLL ) S FL IR SO 5 ZE Wi i AE
7, BERRBEE Y, AR AT -
® & 4.14:
LY = (I1,..., 1), HF, I, € win(h), BIPMER h € [m] c HEIMEBHTE i1,42 € [m],
Ly, I, M7, BIFAMRE © 2 —EB5F 5 (win sequence)
Fufl 4.15:
FAE F 5] 4.6 1ERFT

My, Myyly

Myl Miyly

1 2|5 6

M =

[3 418 7
HEM WAQ) = WA2) = {1,2}, WB(1) = WB(2) = {3,4},win(1) = win(2) =
{(173)7<2’3)7(174)7(274>} °

i, mZiaF 16 AT, HER ARG —HEAHE o 41 ((1,3),(1,3))
Ne—REFEI o R K,
11 5 1

15 9 b
=143, # 5+ 3, =148, =5+8°
3 3 8 3 3 8 8 8

trop trop trop trop

M ((1,4), (1,3)) HIE—EBFS, K,

11 15

6 1 6 5
=1+3, =6+ 3, =148, =6+8¢
3 3 73 3 8 7 8

trop trop trop trop

IR, ST 23t 4 ABFETID 85 T, = ((1,4), (1,3)),
T2 = ((1,4),(2,3)), T3 = ((2,4), (1,3)), Ta = ((2,4),(2,3)) °

ERMEERTY 2 1%, HIES BT IIKE, B RAmER SRR S
ELAEARR T(BHABR T EEAETL, Il —co < a BREEN), ZRAFERE
EERAMLL C B D 9 BIFET -
$u15] 4.16:
FEIA A BIROE T, BRI ((1,4), (1,3)) o B ER ISR EX R4

g. 1+SE1 = 6+y2
3+l’1 = 8—|—y1

20



2+I2 < 1+Z‘1
o+ < 14z
T 4 n = 1
4+l’2 S 3"‘171
L 7+y2 S 3+£C1
S B Y T A A e e

10 0 -1 -5

C =
10 -1 0 =5
UK -
-1 1 0 0 1
-1 0 1 0 4

D=
-1 1 0 0 1
-1 0 01 4

DRIFER S ELT e

TE K 8 15 P BT SR M R AR, B BESK A o,y IR R, R A0z =Boy-e
Ho s A Ry SRR ME R AR BN R AR o B SEZUAYER o0 B mT LLGE Y = -85
I 15 (Gauss—Jordan elimination) A & A4 % U5 5186 2 (reduced row echelon form),
RANEEA A, BAHE GESR IR A5 A 70 A B8 B B« B A 5 AV B 0 FeAF i —
A8 RS -8 S E R ER T E R AGE R R B Y, B R E A E R L JH B RS
igEA BAEBE, T & LRAFIRL (sub-specialize) FKFEME G ERHEAE, T2 %R
FA) R BEEL R VRS TR FELFE (sub-special matriz)

TEfE D AERE I RIS EE AN T

1. EBACHMS

2. & D WHFWI], B r=(r,...,1rn,0) B s = (ry,...,7,,0), B a < b B IR
ro

3. AEEAEMN D FEMEEWIEE] s, 7 s EHEAM D I r WE r = (r1,..., 70, 0),
§= (Tla"'arnab) E agb, E\IJL)L SEK&%T °

4. % D TRMEEMIIMEZE—E&5E, AlfFH S —F38Ens C B, W61E D HRERILW
4] o

ZEiELl FUEER. B D A, ARG D A LU B FRAORERE, R 2 A R R AR

P o

21



T & 4.1T:
2 G € My (T), G' B G ERIZ—1T « G R T IEH

1.

2.

3.

G &3 (1,-1,0,...,0) F—TEHE -
G FHIEMFIMm AR, B G FEMYREEZE— &Y -

%ﬁﬁ 1 <1y ,Tﬁ//r% G/(zl) = _G/(i2)7 /E‘IJ lg =11 + 17 Gi1(n+1) + Gis(n+1) < 07 H Gl(u) %

i1 _
J -1 .
(0,...,0,1,0,...,0,—1,0,...,0), 4,1 € [n]

R -
B i € [m] 518 Gy £ —Gloyy, WIFIARE 0 TEZ FTE AT BOBE 55 2

(j11, J12)s (o1, Joo), DL BUEERN & 5 B IK T (BUF/INEESS) o (Flan: & &' HE M
435 %s (0,0,1,0,—1) B (0,0,1,—1,0), A (0,0,1,—-1,0) £ G’ FEIZIEHFEHET < )

HIFAIRE G 2 — UK IR AR -

15 4.18:
oA —ERBERH, 1 C AL

(100 -1 —5 |
C= y
001 -1 0
RN D, 15 ) )
010 —1 —4
000 0 -1
D: )
010 -1 —4
000 0 -1
TEREEEI D=0 1 0 —1 —4 |°
TSESE BT ((1,4), (1,3)) BI#,
Ty = Y2+
Y1 = Y2
T S y2+4
RIS EREF 5 ((1,4),(1,3)) BIfEA
ry = y2—1—5
To = ya2+4,

yr = Y2

22



BERBTF ((2,4),(1,3)) BfEA

Ty = Y2+5
T2 = Y2 + 4 9
y1 = Y2
BB FH ((2,4),(2,3)) HIFR
Y1 = Y2
1 < ya+5

B BRI
FRoAPS DA i ot 2 K ) JRAR -
o BER— M A€ Myyuy(T), B € Myi(T), & M = [A|B], BN —{E i € [m] &t

M
BB R S AR W (r B, 2 45, m H), B i BRI, R
T L 0 U o

o WER T GTHEU T EBFIIFEAZMEES] WS(m F, 217, p H, HF 0<p <),
B-HREMFSHEEMERTRIBEEFH o 5 WS Rz, RIBLELIT 2B oy
WHBUR -

o HINE—RBFI T HITHER=~BERIX: (LA solg, i solp, 47 BIFER
t t
Oy [xt _yt 1} — 0 B Dy [xt 1| <o rR)
— BER=. RKHEHEWN Cy, Dy °
— BRI #& Oy AL SIES, AN Dy # o

— R B Dy AT IR IR R R R R R L, R A AT P B,
soly = ()« IFEHH Cy HISIECAHTHY (4TS ERE), A E R E] 2 5RI -

— BERIN: BB T BUES soly = solg, Nsolp, ©

iyl
E

o BERL: BT RGHIER (] soly

Tews

BRI LA — (A EER ] T3

23



.19 4.19:

2
3 —oo O 11

A= 1 1 0|.B=1]3 2]/,
—oo 1 2 3 1

KRGS UEERMERT Aor=Boy-°
H (6] T rT DUAE, SERRAVARIE RATAEELE, RO ACEEVAURL o 7k Feffi A B8 Sk
RS
B AR
3 —o0 01 1
M=| 1 1 0|32
00 1 2|31
BEMBEE R WAQ) = {1,3), WA@2) = {1,2,3}, WA(3) = {2,3}, WB(1) =
WB(2) = WB(3) = {4,5} °
ARERIBSFIIE Ty = ((1,4),(2,4), (2,4)), To = ((1,4), (2,4), (3,4)),
Ty = ((3,4),(2,4),(2,4), Tu = ((3,4),(2,4),(3,4)), T5 = ((1,5),(2,4),(2,4)), T =
((1,5),(2,4),(3,4)), Tz = ((1,5),(2,5),(2,4)), Ts = ((1,5),(2,5), (3,4)),
Ty = ((3,5),(2,4),(2,4)), T1o = ((3,5),(2,4),(3,4)), Tn1 = ((3,5),(2,5),(2,4)), Tr2 =
((3,5),(2,5),(3,4)), F 12 4 -
BEEFY T = ((1,4),(2,4), (2,4)), TLUBRIER AR

100 -1 0 2
C=1010 -1 0 =2
010 —1 0 —2

BN RS
-1 0 1 0 0 -3
-1 0 0 0 1 -2
1 =100 0 O
D = 0O -1 100 —1/{,
0O -1 001 1
0O -1 10 0 1
0 -1 001 O

24



i C RSB A D 15,

O:

# D AT R R AR R A

D=

PRI B FP 51 Ty AR S

HERNFRIFES T
BRSPS T3 BB

HERFI T HIRR

solvy, :

1

o

o O o o o o o

0 0 1
000

soly, :

soly, :

—_
o

o o o o o o o
S = O = O O =

T
X2
€3

Y2

X2
€3
T

Y2

T
T2
Zs3
T3
Y1
Y2

25

|
—_
o

|
N\

IA Il

IN

IAN I

IN

VAN VAN VAN |

IN

|
—
_ o R O O = O
[
w

-1 0 -1
-1 1 0

Y1 — 2
y1+2
y1+1
Y1

y1+2
y1+1
y1— 2
Y1

Y2 — 2
Y1 + 2
yr+1
Yo +1
Yo

y1+1




HERFI To HIBR

BRI T, BIBRR

HER T Ts BIBER

HERF I To HIRR

soly, :

soly, :

solyg

soly,: <

ry =

X2

€3

IA

Y1

IN

Y2

X

X2

n

IN

€3

X1

T3 =

o=

Ty =

€3

n

IN

X

26

Yo — 2
y1+2
y1+1
Yo

y1+1
Y2 — 2
y2 + 1
y2 — 1
Y2

Y2 — 2
Yo+ 1
Yo

Yo — 1
Yo + 2
y2 +1
Y2

Yo — 2



BHhE A

%g

FH I T A5 I A A A, P T8E AR R OBV SR R AR RUSKIBAS B T AR ERY R
% o BNEVTARIERAT Ao o = b, TAE b FHBE —co TRV BT, (£155&
MAFERHE Aoz = 0 EEEARME - BB AHIRERMR, FHBEFIBE, 3
7 5 8y a] ISR H R e ZORBIBMFARIE R AL A0 o = b B -

BRI REARIE R Ao o = B oy @HEME, 8o id gl
REHVBSECH, & BB T s T E RE m HIFSH, ARG 3R AT DUS2)
MM - HIES—[FEEFIIMER BIENRM S: Cl' —y'1]'=0
BIRNERARM T: Dla' —y' 1)) <0, BNFXRG S ETRIT-EREHEE, ANERXALR
T EATIREFIRL, NSO ETER B A3 E), SR vl DUS 2 88 BT AR
PRI -

A RTEREEE, FFE SR F IS, R HRIERR Aoz =bET"
(i, AR E ST REVERIE R Aoz = Boy 1£ RP,R? FHISKER, 3t B A FEE %
REATTR IS 2 M BRI 30, TR R SRR - B8, @A R M AR BUFIR A I,
e BI BT RIERRK Ao x = Boy 1£ T, T¢ FHYKAE, AT RReIs 3w+, 3
2B 5 BB AT D —oo RITETE, FEMARTL N KRB, SRR AR ERERRE, Bk
[ P LA SEIR A HUTRET

AN, BPERERERTHE, FAEHAZ MATLAB(R2011b) & —&#KEE, BYE
BEHS ] L2 BB E (0] BUHBIREFE [10] o B EEE G HAGETBUERT &, BN
R AEREEE L - ARIEREARERS THRZHH MATLAB 88308, DlGiE
et R RE R LRV AT T, A] LU R A H A A A B E R A RS A R
B o S NERARIER 2, ARACHGF A DL K E] B PO pE FE ARS8, 23R
] IR AN IRET BT[]

27



10

11

12

14

15

16

17

18

19

20

21

22

23

24

26

27

28

29

Al. RIFEGEFRERTR Ao =0 TR

function [maxsol,UBD,ARB,remain,A1]=STLS(A,b)
% RIFEVERMERT A x =1
[m n]l=size(A);
UBD=[1; % REEGEE
ARB=[1; % N3ZRR A E
ridx=1:m;
cidx=1:n;
if m~=length(b)
maxsol=’no solution’;
UBD=’no solution’;
ARB=’no solution’;
else
for i=ridx(b==-inf)
UBD=union(UBD,cidx(A(di,:) =-inf));
end
ARB=union(ARB,cidx(all(A==-inf,1)));
remain=setdiff (setdiff (cidx,UBD),ARB);
A=A(ridx(b~=-inf) ,remain);
b=b(b~=-inf);
for i=1:size(A,1)
A(i, )=A(i,:)-b(i);
end
W=max (A, [],1);
A(A~=ones(size(A,1),1)*W)=-inf;
if any(all(A==-inf,2),1)
maxsol=’no solution’;
UBD=’no solution’;
ARB=’no solution’;

else

28



30 maxsol=-max (A, [],1)’;
end
32 Al=A;

33 end
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=

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

29

30

31

32

33

36

37

38

A2, RIFBBERITRIERGE Ao = Boy WEREE

function []J=tshtls(A,B)

% RAFESBIEERMERT A x =By

% Ht a,B WEMEGT, AEE

tic

if size(A,1)"=size(B,1)
return

end

M=[A B];

WA=[A"=-inf logical(zeros(size(B)))];

WB=[logical(zeros(size(A))) B"=-inf];

[m nl=size(M);

% #EFTE winnig pairs

W=[];col=1:n;

for i=1:m
lengthWA=length(findelt (col,WA(i,:)));
lengthWB=length(findelt (col,WB(i,:)));
sz=lengthWA*lengthWB;

W(l:sz,1:2,i)=cartprod(findelt(col,WA(i,:)),...

findelt(col,WB(i,:)));
end
W;
% FTEFTA win sequence
[r,”,m]=size(W);
WS=zeros(m,2,r"m);
P=possiblecase(r,m);
for i=l:r'm
for j=1:m
WS(j,:,1)=W(P(E,]),:,3);
end
end
temp=[];
ind=1;
for k=1:r'm
tf=[1;
for i=1:m
if (Ws(i,1,k)"=0)&(WS(i,2,k)~=0)
tf=[tf 1];

else
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39

40

41

42

43

44

45

46

47

55

56

57

58

59

60

61

62

63

64

65

66

67

68

69

70

71

72

73

74

75

76

77

tf=[tf 0];
end
end
if tf==ones(1,m)
temp(l:m,1:2,ind)=WS(1:m,1:2,k);
ind=ind+1;
else
end
end
WS=temp;
[m,~,pl=size(WS);
temp=[];
ind=1;
for k=1:p
tf=[1;
for i=1:m-1
for j=i+l:m
chk=[WS(4i,:,k);WS(j,:,k)];
tf1=[];
for il=1:2
for j1=1:2
tf1=[tf1 tropical2det([M(i,chk(1,il)),...
M(i,chk(2,j1));
M(j,chk(1,i1)),M(j,chk(2,j1))])==...
M(i,chk(1,i1))+M(j,chk(2,j1))]1;
end
end
if tfi==ones(1,4)
tf=[tf 1];
else
tf=[tf 0];
end
end
end
if and(max(tf)==1,min(tf)==1)
temp(l:m,1:2,ind)=WS(1:m,1:2,k);
ind=ind+1;
else

end
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78

79

80

81

82

83

84

86

87

88

89

90

91

92

93

94

95

96

97

98

99

100

101

102

103

104

105

106

107

110

111

112

113

114

115

116

end
WS=temp;
[m,”,pl=size(WS);
WS
numsol=0;
% ¥ES—E win sequence, I H ¥ BRI
for k=1:p
display (?—————=—==——=———— )
k
next=0;
Y=WS(:,:,k)
c=[1;
D=[1;
for i=1:m
C(i,Y(i,1))=1;
C(i,Y(1,2))=-1;
C(i,n+1)=M(i,Y(i,1))-M(i,Y(i,2));

end
ind=1;
for i=1:m
for j=1:n
if M(i,j)==-inf
elseif (j7=Y(i,1))&(j7=Y(i,2))
D(ind,Y(i,1))=-1;
D(ind,j)=1;
D(ind,n+1)=M(i,j)-M(i,Y(i,1));
ind=ind+1;
else
end
end
end
C;
D;

C1=C(:,1:end-1);

if rank(C) “=rank(C1)
continue

end

E=[];

do=1;
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117

118

119

120

121

122

123

124

125

126

127

128

129

130

131

132

133

134

135

136

138

139

140

141

142

143

144

145

146

147

148

149

150

while do==

do=0;
C=[C;E];
C=rref(C);
C=C(1:rank(C),:);
C1=C(:,1:end-1);
WY=zeros(size(C,1),2);
for i=1:size(WY,1)
WY(i,:)=col(C1(i,:)"=0);
end
Set=unique (WY (:));
c=0;
CL=[1;
while “isempty(Set)
c=c+1;
ind=[1;
temp=Set (1) ;
for i=1:size(WY,1)
if ismember(Set(1),WY(i,:))
temp=union (temp,WY(i,:));
ind=[ind il;
end
end
WY(ind, :)=[];
count=1;
while count>0
count=0;
for i=temp
ind=[1;
for 1=1:size(WY,1)
if ismember(i,WY(1,:));

temp=union(temp,WY(1,:));

ind=[ind 1];
count=count+1;
end
end
WY(ind, :)=[];
end

end
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157

158

160

161

162

163

164

167

168

169

170

171

172

173

174

175

177

178

179

180

181

182

183

184

185

188

189

190

191

192

193

194

Set=setdiff (Set,temp);
CL(c,1:length(temp))=temp;
end
c;
CL;
% AR
total=CL(CL"=0);
total=total(:);
C1=C(:,1:end-1);
D1=D(:,1:end-1);
dontrm=col (any((Cl==-1),1));
replace=setdiff (total,dontrm) ;
for i=1:size(C1,1)
rp=col(C1(i,:)==1);
dr=col(C1(i,:)==-1);
for j=1:size(D1,1)
if D(j,rp)==
D(j,rp)=0;
D(j,dr)=D(j,dr)+1;
D(j,end)=D(j,end)-C(i,end);
elseif D(j,rp)==-1
D(j,rp)=0;
D(j,dr)=D(j,dr)-1;
D(j,end)=D(j,end)+C(i,end);
end
end
end
D;
D1=D(:,1:end-1);
% EERZERAVER Y
if “isempty(D)

D((all((D1==0)’)&((D(:,end))’<=0)),:)=[];

end

D;

% sub-specialization
E=[];

N=D;

count=1;

while count>0
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197

198

199
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214

215

216

217

218

219

220

221

222

223

224

225

226

227

228

229

230

231

232

233

count=0;
i=1;
while i<size(N,1)
j=i+1;
while j<=size(N,1)
N1=N(:,1:end-1);
ida=find (N1(i,:));
idb=find (N1(j,:));

[c, ia, ib]l=intersect(ida,idb);

if length(c)==
if N1(i,ida(ia))

==-N1(j,1db(ib))

temp=N(i,:)+N(j,:);

for 1=1:size(N,1)

if (temp(l:end-1)==N(1,1:end-1))&...

N(1,

(temp(end)>N(1,end))

:)=temp;

count=count+1;

else
end
end
else
end
else
end
J=3+1;
end
i=i+1;
end
i=1;
cut=[1;

while i<size(N,1)
j=i+1;
while j<=size(N,1)
N1=N(:,1:end-1);
if N1(i,:)==N1(j,:)
count=count+1;
if N(i,end)<N(j,
N(i,end)=N(j

cut=[cut jl;

end)

,end) ;
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238
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240
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258

259
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262
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264

266

267

268

269

270

271

272

else
cut=[cut jl;
end
else
end
=i+,
end
i=i+1;
end
N(cut,:)=[1;
i=1;
while i<size(N,1)
j=i+1;
while j<=size(N,1)
if N(i,:)==-N(j,:)
temp=N(i,:);
count=count+1;
ind=[];
for 1=1:size(N,1)

if N(1,:)==temp

N(1,:)=zeros(1,size(N,2));

ind=[ind 1];

elseif N(1,:)==-temp
N(1,:)=zeros(1,size(N,2));

ind=[ind 1];

else
end
end
N(ind,:)=[1;
E=[E;temp];

else
end
J=j+1;
end
i=i+1;
end
end
E;

% sub-specialization
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274

275

276
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278

279
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282
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285
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288
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294

295

296

297

298

299
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301

302
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304

305

306

307

308

309

310

311

temp=[];
L=nchoose2(n) ;
N1=N(:,1:end-1);
if “isempty(N)
if any(all((N1==0)’)&(N(:,end)’>0))
next=1;
break;
else
N(all((N1==0)’),:)=[];
end
end
N1=N(:,1:end-1);
for 1=1:size(L,1)
templ=[];
for i=1:size(N1,1)
if (£ind(N1(i,:))==L(1,:))
if N1(i,L(1,1))==1
templ=[N(i,:);templ];
else
templ=[templ;N(i,:)];
end
else
end
end
temp=[temp;templ];
end
N=temp;
D=N;

if isempty(E)

do=0;
else
do=1;
end
end
CL
C
D
if next==
continue

37



312

313

314

316

317

318

319

320

321

322

323

324

325

326

327

328

329

330

331

332

333

334

335

336

337

338

339

340

341

342

343

344

345

346

347

348

349

350

end
numsol=numsol+1;
for i=1:size(A,2)
eval([’syms x_’,int2str(i);])
end
for i=size(A,2)+1:n
eval([’syms y_’,int2str(i-size(A,2));])
end
disp(’The solution set are’);
for i=1:size(C,1)
C1=C(:,1:end-1);
1=find(C1(4,:)==1);
r=find(C1(i,:)==-1);
if 1l<=size(A,2)

if r<=size(4,2)

eval ([’disp(’’x_’,int2str(1),’ = x_7,...

int2str(r),’ + (,...
int2str(-C(i,end)),?)’’)’1);

else

eval([’disp(’’x_’,int2str(1),” = y_7,...

int2str(r-size(A,2)), ...
>+ (°,int2str(-C(i,end)),’)’’)’1);
end
else

if r<=size(4,2)

eval([’disp(’’y_’,int2str(l-size(A,2)),’

int2str(r),...
> + (?,int2str(-C(i,end)),?)??)’]);

else

eval([’disp(’’y_’,int2str(1-size(4,2)),’ =

int2str(r-size(A,2)),’ + (...
int2str(-C(i,end)),’)’’)’1);
end
end
end
for i=1:size(D,1)
D1=D(:,1:end-1);
1=find(D1(i,:)==1);
r=find(D1(i,:)==-1);
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351 if 1<=size(A,2)

352 if r<=size(A,2)

353 eval([’disp(’’x_’,int2str(1),’ \leq x_’,...
354 int2str(r),’ + (,...

355 int2str(-D(i,end)),’)’’)’1);

356 else

357 eval([’disp(’’x_’,int2str(1),’ \leq y_’,...
358 int2str(r-size(A,2)), ...

359 > + (?,int2str(-D(i,end)),’)’’)’]1);

360 end

361 else

362 if r<=size(A,2)

363 eval([’disp(’’y_?,int2str(l-size(A,2)),” \leq x_7,...
364 int2str(r),...

365 > + (?,int2str(-D(i,end)),’)’’)’]1);

366 else

367 eval([’disp(’’y_’,int2str(1-size(A,2)),’ \leq y_’,...
368 int2str(r-size(A,2)),’ + (,...

369 int2str(-D(i,end)),’)’’)’1);

370 end

371 end

372 end

373 display (’—————=——————=—=———————— )
374 end

375 numsol

376 toc
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A3. STREAFHEENERES 1y

function X = cartprod(varargin)

%CARTPROD Cartesian product of multiple sets.

A

% X = CARTPROD(A,B,C,...) returns the cartesian product of the sets
% A,B,C, etc, where A,B,C, are numerical vectors.

A

%  Example: A = [-1 -3 -5]; B = [10 11]; c = [0 1];

b

% X = cartprod(A,B,C)
% X =
%
% -5 10 0
% -3 10 0
% -1 10 0
% -5 11 0
5 b -3 11 0
% -1 11 0
A -5 10 1
% -3 10 1
% -1 10 1
% -5 11 1
% -3 11 1
3 %h -1 11 1

%
% This function requires IND2SUBVECT,
% also available (I hope) on the MathWorks

% File Exchange site.

numSets = length(varargin);
for i = 1l:numSets,
thisSet = sort(varargin{il});
if “isequal(prod(size(thisSet)),length(thisSet)),
error(’All inputs must be vectors.’)
end
if “isnumeric(thisSet),
error(’All inputs must be numeric.’)

end
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39 if “isequal(thisSet,unique(thisSet)),

40 error([’Input set’ ’ ’ num2str(i) ’ °’
41 ’contains duplicated elements.’])
42 end

43 sizeThisSet(i) = length(thisSet);

44 varargin{i} = thisSet;

45 end

46
47 X = zeros(prod(sizeThisSet) ,numSets);
48 for i = 1:size(X,1),

49

50 % Envision imaginary n-d array with dimension "sizeThisSet"
51 % = length(varargin{1}) x length(varargin{2}) x ...

52

53 ixVect = ind2subVect(sizeThisSet,i);

54

55 for j = 1l:numSets,

56 X(1,j) = varargin{j}(ixVect(j));

57 end

58 end
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A5. FtREEFEETLESLEHER TR 12

function X = ind2subVect(siz,ndx)

%IND2SUBVECT Multiple subscripts from linear index.

A
A
%
A
A
b
A
A
A
b
A
A
b
A
A
A
b
%
A
b
A
A
A
b
A
A
A
A

IND2SUBVECT is used to determine the equivalent subscript values

corresponding to a given single index into an array.

X = IND2SUBVECT(SIZ,IND) returns the matrix X = [I J] containing the
equivalent row and column subscripts corresponding to the index

matrix IND for a matrix of size SIZ.

For N-D arrays, X = IND2SUBVECT(SIZ,IND) returns matrix X = [I J ...]
containing the equivalent N-D array subscripts equivalent to IND for

an array of size SIZ.

See also IND2SUB. ~(IND2SUBVECT makes a one-line change to IND2SUB so
as to return a vector of N indices rather than retuning N individual
variables.)’%IND2SUBVECT Multiple subscripts from linear index.
IND2SUBVECT is used to determine the equivalent subscript values

corresponding to a given single index into an array.

X = IND2SUBVECT(SIZ,IND) returns the matrix X = [I J] containing the
equivalent row and column subscripts corresponding to the index

matrix IND for a matrix of size SIZ.

For N-D arrays, X = IND2SUBVECT(SIZ,IND) returns matrix X = [I J ...]
containing the equivalent N-D array subscripts equivalent to IND for

an array of size SIZ.

See also IND2SUB. (IND2SUBVECT makes a one-line change to IND2SUB so
as to return a vector of N indices rather than returning N individual

variables.)

% All MathWorks’ code from IND2SUB, except as noted:

=]
]

b
I

ndx

for

length(siz);
[1 cumprod(siz(1l:end-1))];
= ndx - 1;

i=mn:-1:1,
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39 X(i) = floor(ndx/k(i))+1; % replaced "varargout{i}" with "X(i)"
40 ndx = rem(ndx,k(i));

41 end
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A4, KAFE ST R R SRR BT

1 function y=findelt(v,tf)

2 %ov R—EmE, tf REEMEO,1 MR, v M of LEGHRNREE
s % findelt # v FHEEEMEES 1 AITH

4 y=(v(logical (tf)));
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A6. KAFEE STV R R SRR T BT

function L=nchoose2(n)
% FHBTA T AR
L=[1;
for i=1:n-1
for j=i+l:n
L=[L;i,j];
end

end
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10

11

A7, KAFE ST R R SRR T 2R TR

function y=nptime(M,n,p)
% EHBIET R win sequence FAEEHY
v=[1;
[r cl=size(M);
for i=1:r
v=[v;ones(n,1)*M(i,:)];
end
y=[1;
for i=1:p
y=Ly;vl;

end
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A8. KA ST XA R R SRR BT

function y=possiblecase(n,m)
% AT A A EE win sequence
y=[1;

for

end

i=1:m

y=[y,nptime((1:n)’,n" (m-i) ,n"(i-1))]1;
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A9. FHEEFTIIE

1 function y=tropical2det(A)

2 % 2%2 FEPEHITIIZUE
3 y=max(A(1,1)+A(2,2) ,A(1,2)+A(2,1));
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